P B P S | PUNTTT .
Department of Chemistry

g e ALy dlas)
0598830460




&

cusubl] mal=l] euls

o
&
e
-1
L
L s
]
.«
EE
LE
125
CE
v

(=l R 3 00 0 0 0 0 0 L T e =}
™
L

amees iow out

Pipette

Digital Pipette

Stand

Test tubes

/|
A

0 2501\
50 200
100 180 \
150 100
>

Conicai flask

Washing bottle

Bunsen Burner



http://www.google.com.sa/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwju4_OgtbDPAhXJuRoKHWRlDggQjRwIBw&url=http://www.labwarehouse.co.nz/Plastic-washing-bottle--0500mL_p_1220.html&psig=AFQjCNHmq1E0ArRQ0uNduIpxu42KL1vmPg&ust=1475095527555557
http://www.google.com.sa/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwjhpvCFtbDPAhVFWhoKHeUlAXoQjRwIBw&url=http://www.questionstudy.com/chemistry/define-burette-and-explain-rules-of-using-burette.html&psig=AFQjCNGZ7ny08BH7jR0HaWKfelB38Nh6Ig&ust=1475095468196282
https://www.google.com.sa/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwj74-qBvrDPAhUFVxoKHVi6BoAQjRwIBw&url=https://www.dartmouth.edu/~chemlab/techniques/buret.html&psig=AFQjCNF6L4c3BqcbxmgfANeiRe0JA2r_2w&ust=1475097833069963

(e

Sy a—— _
suzuhil] pall] el

What is a titration? The act of adding standard solution in small quantities to the test
solution till the reaction is complete is termed titration.
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What is a standard solution? A standard solution is one whose con¢eatration is precisely
known.

(A2 0 35 5 @mmi Nl Jal) ga sl J slaall)
What is a test (unknown) solution? A test solution is one xvhose concentration is to be
estimated.
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Indicators are chosen, such that they change colorsatthe range of the pH of interest
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Indicators Acid Base(alkoli)
ph.ph Culgisess
M.O e Yellow — Orange

®

methyl orange

acid end-point alkali

Choose the best answer:

1- The color of M.O indicator change from ..... to .....at titration strong acid and base
1- colorless to red 2- yellow to red 3- pink to red
2- The color of ph.ph indicator change from ..... to ..... at titration strong acid and base
1- pink to colorless  2- yellow to red 3- pink to red
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3- A suitable indicator for titration of strong base with weak acid is:

1- ph.ph 2-pH 3- titration curve 4- M.O
4- Is not suitable indicator for titration of strong base with weak acid is:
1- ph.ph 2-pH 3- titration curve 4- M.O

5- The color of ph.ph indicator change from ..... to ..... at titration strolyg Base and
weak acid

1- Colorless to pink 2- yellow to red 3- pink to red

6- During titration of CH,COOH by NaOH, the color of the iydidator changes from
........ to ........of ph.ph

I- Yellow tored 2- Pink to yellow 3- Red to pink  4- Célewiess to pink

7- Both NaOH and HCI are:

1- Acids 2- Bases 3- Strovg

8- One of the following does not used during ti{r¥§on.

1- pipette 2- Balance 3- burette
9- both molecular weight and equivalent'weigiit of NaOH
1- are the same 2- different

10- Methyl orange indicator is type of

1- azo dye 2- inorganic canmypound  3- Strong base

11- Acetic acid considered as:

1- strong acid 2- weak,acid 3- an electrolyte 4- both 2 and 3
12- the equivalent weight 0RCH,COOH equals:

1- 60 2- 30 3-40 4- none of these

2) What is the miglayity of a nitric acid (HNQO3) solution if 43.33 mL of 0.1000 M KOH
solution is W®»ded ©o neutralize 20.00 mL of the acid solution?

3) What is the concentration of HCI if 30.0 mL of 0.10 M NaOH neutralizes 50.0mL
HCI1? NaOH + HCl —» H,O + NaCl
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density is defined as the mass of substance per unit volume

Quantity unit
Mass kg—SI
(m) g
Volume m?3 — sli
(v) L
ml
Density Kg/m3 — SI
(d) g/cm?3 — solids m
g/ml| — Liquids d=v
g/L — gases
m
S i v — —_—
1L=1000 mL=1000cm?3=1dm%| d

_ Answer the follow: ig 'suestions

Choose the best anisver:

1.1f 25 g of a liquig,occupies 20 cm3 in a measuring cylinder, what is the density of
the liquid?
a) 0.25gcm® b) 0.8gcm?®  ¢)1.25gcm d 5gcm3

2.You have a rock with a volume of 15cm3 and a mass of 45 g. What is its density?
a) 0.2th o3 b) 0.8gcm3 c)1.25gcm? d 3gcm3

3. If you have Ethanol with a mass of 45 g and a volume of 5 mL, How did you
determine its density?
a) 0.25gcm? b) 0.8gcm®  ¢)1.25gcm? d 9gcm?

4. 1f we use the units of grams (g.)for mass and cubic centimeters (cm?) for volume,
then the units for density will be?
a) g/m3 b) kg/ms3 c) kg/m d) g/cm?

5.Which one of the following is not a unit of density?
a) g/ml b) kg/m3 c) kg/m d) g/cms3
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Viscosity is defined as the resistance of a fluid to flow either liquid or gas.

In The Viscosity Experiment . viscosity Water 0.0091 poise in time 11sec,
density of water 0.997g/ml 4 an sity of Aceton 0.784 g/ml , time 20 sec , calculate

Viscosity of Aceton ? \\

v
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Choose the best answer:
1- What happens to the viscosity of a liquid when its temperature is raised?
a. The viscosity of the liquid increases.
b. The viscosity of the liquid stays the same.
c. The viscosity of the liquid decreases.
2- What are fluids?
a. substances that flow
b. Liquids, and gases
c. a&b
d. non of the above
3-The ..o, the attraction between moleculés, $he-greater the viscosity of the

a. stronger
b. weaker
c. more red
4- What measures a materials resistance e flow?
a. Matter
b. Volume
c. Hardness
d. Tensile Strength
e. viscosity
5- Water has a very low yi1s&gsity equal?
a. 0.008904 poise at 25 “EVolume
b. 0.8904 poise at 25°C%olume
c. 8904 poise at 25 °C)/olume

d. 8.904 poise at 25,°CVolume
6- An instrume¥, tiyat measures viscosity is called ?
a. Baronicies
b. viscometer
c. Manometer
d. Cantemeter
e. Viscosity
7- Substances have different viscosities because they have?
a. different flow rates
b. different thicknesses
c. a&b
d. different Mass
7- What are the factors that affecting the viscosity of fluids?
a. intermolecular forces
b. temperature
c. Particle size
d. a&b&c
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Surface Tension [y ] is the force per unit length that must be applied parallel to the

surface so as to counterbalance the net inward pull and has the units of

Silaa g4l lall 2ol Condl 253 gal ol 5 pedaad) ga 531 5ills gl cony il 5 b san s JSU 5 8l ga adaud) i gl
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Cohesive force is the force existing between like molecules in the su@of a liquid.

(Bl a8 gl iy 3l ¢ sl o ASulaiall 5 gl
Adhesive force is the force existing between unlike molecules, s at between a

liquid and the wall of a glass capillary tube
@BJ&JMQ}.\J\)\A;}JJM\U.uaJP}A\JLJJA aaliadl) & adP}A&\c)ﬂ\GAAM)J\c)ﬂ\)
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In the Surface Tension experiment , the capillary tube radius is 0.05cm , acceleration
of gravity is 980cm/&qr¢ height of of the liquid is 3.5cm and the density of liquid is

1.3g/cm? Y"
& °
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Choose the best answer:

1- Rain drops are spherical in shape because of
a. Surface tension.
b. Capillary.
c. The viscosity of the liquid decreases.
d. Electrophoresis

3- Plants get water through the roots because of
a. Capillarity
b. Viscosity
c. Gravity
d. Elasticity

3- Unit of surface tension
a. dyne/cm2
b. dyne/cm
c. dyne/cm3
d. second

4-Surface tension is
a. the force per unit length trat must be applied parallel to the surface
b. the mass of substaftea.ner unit volume
c. the resistance of a fiuid to flow

5- If two liquidS\arécompletely ........ no interfacial tension exists between them
a. Immisicible

b. soluble

c. acidic

d. miscible
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